

Article

Complete homogeneous symmetric functions of Gauss Fibonacci polynomials and bivariate Pell polynomials

Nabiha Saba¹ and Ali Boussayoud^{1,*}

¹ LMAM Laboratory and Department of Mathematics, Mohamed Seddik Ben Yahia University, Jijel, Algeria.

* Correspondence: aboussayoud@yahoo.fr

Received: 13 January 2020; Accepted: 13 May 2020; Published: 31 May 2020.

Abstract: In this paper, we introduce a symmetric function in order to derive a new generating functions of bivariate Pell Lucas polynomials. We define complete homogeneous symmetric functions and give generating functions for Gauss Fibonacci polynomials, Gauss Lucas polynomials, bivariate Fibonacci polynomials, bivariate Lucas polynomials, bivariate Jacobsthal polynomials and bivariate Jacobsthal Lucas polynomials.

Keywords: Symmetric functions, generating functions, Gauss Fibonacci polynomials, bivariate Pell polynomials, bivariate Jacobsthal polynomials.

MSC: 05E05, 11B39.

1. Introduction



Özcan and Taştan defined the Gauss Fibonacci $GF_n(x)$ and Gauss Lucas $GL_n(x)$ polynomials and gave their Binet's formula [1]. The Gauss Fibonacci polynomials $\{GF_n(x)\}_{n \in \mathbb{N}}$ are defined by the following recurrence relation:

$$GF_{n+1}(x) = xGF_n(x) + GF_{n-1}(x), n \geq 2, \quad (1)$$

with initial conditions $GF_1(x) = 1$ and $GF_2(x) = x + i$.

The Gauss Lucas polynomials $\{GL_n(x)\}_{n \in \mathbb{N}}$ are defined by the following recurrence relation:

$$GL_{n+1}(x) = xGL_n(x) + GL_{n-1}(x), n \geq 2, \quad (2)$$

with initial conditions $GL_1(x) = x + 2i$ and $GL_2(x) = x^2 + 2 + ix$.

Now we can get the Binet's formula of Gauss Fibonacci and Gauss Lucas polynomials. Let $\alpha(x)$ and $\beta(x)$ be the solutions of the characteristic equation $t^2 - xt - 1 = 0$ of the recurrence relations (1) and (2). Then

$$\alpha(x) = \frac{x + \sqrt{x^2 + 4}}{2}, \beta(x) = \frac{x - \sqrt{x^2 + 4}}{2}.$$

So we obtain

$$GF_n(x) = \frac{\alpha^{n-1}(x)(\alpha(x) + i) - \beta^{n-1}(x)(\beta(x) + i)}{\alpha(x) - \beta(x)},$$

and

$$GL_n(x) = \alpha^{n-1}(x)(\alpha(x) + i) + \beta^{n-1}(x)(\beta(x) + i).$$

The bivariate Pell $\{P_n(x, y)\}_{n \in \mathbb{N}}$ and bivariate Pell Lucas $\{Q_n(x, y)\}_{n \in \mathbb{N}}$ polynomials are defined by the following recurrence relations:

$$P_n(x, y) = 2xyP_{n-1}(x, y) + yP_{n-2}(x, y), n \geq 2,$$

with initial conditions $P_0(x, y) = 0$ and $P_1(x, y) = 1$.

$$Q_n(x, y) = 2xyQ_{n-1}(x, y) + yQ_{n-2}(x, y), n \geq 2,$$

with initial conditions $Q_0(x, y) = 2$ and $Q_1(x, y) = 2xy$.

Special cases of these bivariate polynomials are Pell polynomials $P_n(x, 1)$, Pell Lucas polynomials $Q_n(x, 1)$, Pell numbers $P_n(1, 1)$ and Pell Lucas numbers $Q_n(1, 1)$. The Binet's formula for bivariate Pell and bivariate Pell Lucas polynomials are given by

$$P_n(x, y) = \frac{(xy + \sqrt{x^2y^2 + y})^n - (xy - \sqrt{x^2y^2 + y})^n}{2\sqrt{x^2y^2 + y}},$$

and

$$Q_n(x, y) = (xy + \sqrt{x^2y^2 + y})^n + (xy - \sqrt{x^2y^2 + y})^n,$$

respectively.

In 2018, Zorcelik and Uygun defined the bivariate Jacobsthal and bivariate Jacobsthal Lucas polynomials and gave Binet's formula of these polynomials [2].

Now, we define bivariate Jacobsthal polynomials, bivariate Jacobsthal Lucas polynomials, bivariate Fibonacci polynomials and bivariate Lucas polynomials.

Definition 1. For $n \in \mathbb{N}$, the bivariate Jacobsthal polynomials are defined by

$$J_n(x, y) = xyJ_{n-1}(x, y) + 2yJ_{n-2}(x, y) \text{ for } n \geq 2,$$

with initial conditions $J_0(x, y) = 0$ and $J_1(x, y) = 1$.

Definition 2. For $n \in \mathbb{N}$, the bivariate Jacobsthal Lucas polynomials, say $\{j_n(x, y)\}_{n \in \mathbb{N}}$ are defined by

$$j_n(x, y) = xyj_{n-1}(x, y) + 2yj_{n-2}(x, y) \text{ for } n \geq 2,$$

with initial conditions $j_0(x, y) = 2$ and $j_1(x, y) = xy$.

Definition 3. For $n \in \mathbb{N}$, the bivariate Fibonacci polynomials are defined by

$$F_n(x, y) = xF_{n-1}(x, y) + yF_{n-2}(x, y) \text{ for } n \geq 2,$$

with initial conditions $F_0(x, y) = 0$ and $F_1(x, y) = 1$.

Definition 4. For $n \in \mathbb{N}$, the bivariate Lucas polynomials, say $\{L_n(x, y)\}_{n \in \mathbb{N}}$ are defined recurrently by

$$L_n(x, y) = xL_{n-1}(x, y) + yL_{n-2}(x, y) \text{ for } n \geq 2,$$

with initial conditions $L_0(x, y) = 2$ and $L_1(x, y) = x$.

In this contribution, we will define complete homogeneous symmetric function for which we can formulate, extend and prove results based on [3–5]. In order to determine generating functions of Gauss Fibonacci polynomials, Gauss Lucas polynomials, bivariate Pell polynomials, bivariate Pell Lucas polynomials, bivariate Fibonacci polynomials, bivariate Lucas polynomials, bivariate Jacobsthal polynomials and bivariate Jacobsthal Lucas polynomials, we use analytical means and series manipulation methods. In the sequel, we derive new symmetric functions and give some interesting properties. We also give some more useful definitions which are used in the subsequent sections. From these definitions, we prove our main results given in Section 3.

2. Preliminaries and definitions

In this section, we introduce symmetric function and give its properties [6–11].

Definition 5. Let A and B be any two alphabets, then we give $S_n(A - B)$ by the following form:

$$\frac{\prod_{b \in B} (1 - zb)}{\prod_{a \in A} (1 - za)} = \sum_{n=0}^{+\infty} S_n(A - B)z^n = \sigma_z(A - B). \quad (3)$$

with the condition $S_n(A - B) = 0$ for $n < 0$.

Remark 1. Taking $A = \{0\}$ in (3) gives

$$\prod_{b \in B} (1 - zb) = \sum_{n=0}^{+\infty} S_n(-B)z^n = \lambda_z(-B). \quad (4)$$

Further, in the case $A = \{0\}$ or $B = \{0\}$, we have

$$\sum_{n=0}^{+\infty} S_n(A - B)z^n = \sigma_z(A) \times \lambda_z(-B). \quad (5)$$

Thus,

$$S_n(A - B) = \sum_{k=0}^n S_{n-k}(A)S_k(-B).$$

Definition 6. Let k and n be two positive integers and $\{a_1, a_2, \dots, a_n\}$ are set of given variables. The k -th complete homogeneous symmetric function $h_k(a_1, a_2, \dots, a_n)$ is defined by

$$h_k(a_1, a_2, \dots, a_n) = \sum_{i_1+i_2+\dots+i_n=k} a_1^{i_1} a_2^{i_2} \dots a_n^{i_n}, \quad (0 \leq k \leq n),$$

with $i_1, i_2, \dots, i_n \geq 0$.

Definition 7. [9] Let $A = \{a_1, a_2\}$ an alphabet. The complete homogeneous symmetric function $h_n(a_1, a_2)$ is defined by

$$h_n(a_1, a_2) = \frac{a_1^{n+1} - a_2^{n+1}}{a_1 - a_2}, \quad n \in \mathbb{N}_0.$$

Definition 8. Let g be any function on \mathbb{R}^n , then we the divided difference operator is defined by

$$\partial_{x_i x_{i+1}}(g) = \frac{g(x_1, \dots, x_i, x_{i+1}, \dots, x_n) - g(x_1, \dots, x_{i-1}, x_{i+1}, x_i, x_{i+2}, \dots, x_n)}{x_i - x_{i+1}}.$$

3. Construction of generating functions of some polynomials

The following proposition is one of the key tools for proofing our main results. It has been proved in [9].

Proposition 1. Consider an alphabet $A = \{a_1, -a_2\}$, then

$$\sum_{n=0}^{+\infty} h_n(a_1, [-a_2])z^n = \frac{1}{1 - (a_1 - a_2)z - a_1 a_2 z^2}. \quad (6)$$

Based on the relation (6) we have

$$\sum_{n=0}^{+\infty} h_{n-1}(a_1, [-a_2])z^n = \frac{z}{1 - (a_1 - a_2)z - a_1 a_2 z^2}. \quad (7)$$

Choosing a_1 and a_2 such that $\begin{cases} a_1 - a_2 = x \\ a_1 a_2 = 1 \end{cases}$ and substituting in (6) and (7), we obtain

$$\sum_{n=0}^{+\infty} h_n(a_1, [-a_2])z^n = \frac{1}{1 - xz - z^2}, \quad (8)$$

$$\sum_{n=0}^{+\infty} h_{n-1}(a_1, [-a_2])z^n = \frac{z}{1 - xz - z^2}, \quad (9)$$

respectively.

Multiplying Equation (9) by $(1 + iz)$, we obtain

$$\sum_{n=0}^{+\infty} (1 + iz) h_{n-1}(a_1, [-a_2]) z^n = \frac{z + iz^2}{1 - xz - z^2},$$

and we have the following theorem.

Theorem 1. For $n \in \mathbb{N}$, the generating function of Gauss Fibonacci polynomials is given by

$$\sum_{n=0}^{+\infty} GF_n(x) z^n = \frac{z + iz^2}{1 - xz - z^2}, \text{ with } GF_n(x) = (1 + iz) h_{n-1}(a_1, [-a_2]). \quad (10)$$

Multiplying Equation (9) by $(x + 2i + (2 - ix)z)$, we obtain

$$\sum_{n=0}^{+\infty} (x + 2i + (2 - ix)z) h_{n-1}(a_1, [-a_2]) z^n = \frac{(x + 2i)z + (2 - ix)z^2}{1 - xz - z^2},$$

and we have the following theorem.

Theorem 2. For $n \in \mathbb{N}$, the generating function of Gauss Lucas polynomials is given by

$$\sum_{n=0}^{+\infty} GL_n(x) z^n = \frac{(x + 2i)z + (2 - ix)z^2}{1 - xz - z^2}, \text{ with } GL_n(x) = (x + 2i + (2 - ix)z) h_{n-1}(a_1, [-a_2]). \quad (11)$$

By substituting $\begin{cases} a_1 - a_2 = 2xy \\ a_1 a_2 = y \end{cases}$ in (6) and (7), we obtain

$$\sum_{n=0}^{+\infty} h_n(a_1, [-a_2]) z^n = \frac{1}{1 - 2xyz - yz^2}, \quad (12)$$

$$\sum_{n=0}^{+\infty} h_{n-1}(a_1, [-a_2]) z^n = \frac{z}{1 - 2xyz - yz^2}, \quad (13)$$

respectively, and we have the following theorem.

Theorem 3. For $n \in \mathbb{N}$, the generating function of bivariate Pell polynomials is given by

$$\sum_{n=0}^{+\infty} P_n(x, y) z^n = \frac{z}{1 - 2xyz - yz^2}, \text{ with } P_n(x, y) = h_{n-1}(a_1, [-a_2]). \quad (14)$$

Put $y = 1$ and $x = y = 1$ in the relation (14), we can state the following corollaries.

Corollary 1. [12] For $n \in \mathbb{N}$, the generating function of Pell polynomials is given by

$$\sum_{n=0}^{+\infty} P_n(x) z^n = \frac{z}{1 - 2xz - z^2}, \text{ with } P_n(x) = h_{n-1}(a_1, [-a_2]).$$

Corollary 2. [7] For $n \in \mathbb{N}$, the generating function of Pell numbers is given by

$$\sum_{n=0}^{+\infty} P_n z^n = \frac{z}{1 - 2z - z^2}, \text{ with } P_n = h_{n-1}(a_1, [-a_2]).$$

Multiplying Equation (12) by 2 and (13) by $2xy$, we obtain

$$\sum_{n=0}^{+\infty} (2h_n(a_1, [-a_2]) - 2xyh_{n-1}(a_1, [-a_2])) z^n = \frac{2 - 2xyz}{1 - 2xyz - yz^2},$$

and we have the following theorem.

Theorem 4. For $n \in \mathbb{N}$, the generating function of bivariate Pell Lucas polynomials is given by

$$\sum_{n=0}^{+\infty} Q_n(x, y) z^n = \frac{2 - 2xyz}{1 - 2xyz - yz^2}, \text{ with } Q_n(x, y) = 2h_n(a_1, [-a_2]) - 2xyh_{n-1}(a_1, [-a_2]). \quad (15)$$

Put $y = 1$ and $x = y = 1$ in the relation (15), we have following corollaries:

Corollary 3. [12] For $n \in \mathbb{N}$, the generating function of Pell Lucas polynomials is given by

$$\sum_{n=0}^{+\infty} Q_n(x) z^n = \frac{2 - 2xz}{1 - 2xz - z^2}, \text{ with } Q_n(x) = 2h_n(a_1, [-a_2]) - 2xh_{n-1}(a_1, [-a_2]).$$

Corollary 4. [7] For $n \in \mathbb{N}$, the generating function of Pell Lucas numbers is given by

$$\sum_{n=0}^{+\infty} Q_n z^n = \frac{2 - 2z}{1 - 2z - z^2}, \text{ with } Q_n = 2h_n(a_1, [-a_2]) - 2h_{n-1}(a_1, [-a_2]).$$

Choosing a_1 and a_2 such that $\begin{cases} a_1 - a_2 = x \\ a_1 a_2 = y \end{cases}$ and substituting in (6) and (7), we obtain

$$\sum_{n=0}^{+\infty} h_n(a_1, [-a_2]) z^n = \frac{1}{1 - xz - yz^2}, \quad (16)$$

$$\sum_{n=0}^{+\infty} h_{n-1}(a_1, [-a_2]) z^n = \frac{z}{1 - xz - yz^2}, \quad (17)$$

respectively, thus we get the following theorem.

Theorem 5. For $n \in \mathbb{N}$, the generating function of bivariate Fibonacci polynomials is given by

$$\sum_{n=0}^{+\infty} F_n(x, y) z^n = \frac{z}{1 - xz - yz^2}, \text{ with } F_n(x, y) = h_{n-1}(a_1, [-a_2]). \quad (18)$$

Put $y = 1$ and $x = y = 1$ in the relation (18), we get following corollaries:

Corollary 5. [12] For $n \in \mathbb{N}$, the generating function of Fibonacci polynomials is given by

$$\sum_{n=0}^{+\infty} F_n(x) z^n = \frac{z}{1 - xz - z^2}, \text{ with } F_n(x) = h_{n-1}(a_1, [-a_2]).$$

Corollary 6. [9] For $n \in \mathbb{N}$, the generating function of Fibonacci numbers is given by

$$\sum_{n=0}^{+\infty} F_n z^n = \frac{z}{1 - z - z^2}, \text{ with } F_n = h_{n-1}(a_1, [-a_2]).$$

Multiplying Equation (16) by 2 and (17) by x , we obtain

$$\sum_{n=0}^{+\infty} (2h_n(a_1, [-a_2]) - xh_{n-1}(a_1, [-a_2])) z^n = \frac{2 - xz}{1 - xz - yz^2},$$

and we have the following theorem.

Theorem 6. For $n \in \mathbb{N}$, the generating function of bivariate Lucas polynomials is given by

$$\sum_{n=0}^{+\infty} L_n(x, y) z^n = \frac{2 - xz}{1 - xz - yz^2}, \text{ with } L_n(x, y) = 2h_n(a_1, [-a_2]) - xh_{n-1}(a_1, [-a_2]). \quad (19)$$

Put $y = 1$ and $x = y = 1$ in the relation (19), we get following corollaries:

Corollary 7. [6] For $n \in \mathbb{N}$, the generating function of Lucas polynomials is given by

$$\sum_{n=0}^{+\infty} L_n(x) z^n = \frac{2 - xz}{1 - xz - z^2}, \text{ with } L_n(x) = 2h_n(a_1, [-a_2]) - xh_{n-1}(a_1, [-a_2]).$$

Corollary 8. [13] For $n \in \mathbb{N}$, the generating function of Lucas numbers is given by

$$\sum_{n=0}^{+\infty} L_n z^n = \frac{2 - z}{1 - z - z^2}, \text{ with } L_n = 2h_n(a_1, [-a_2]) - h_{n-1}(a_1, [-a_2]).$$

By substituting $\begin{cases} a_1 - a_2 = xy \\ a_1 a_2 = 2y \end{cases}$ in (6) and (7), we have

$$\sum_{n=0}^{+\infty} h_n(a_1, [-a_2]) z^n = \frac{1}{1 - xyz - 2yz^2}, \quad (20)$$

$$\sum_{n=0}^{+\infty} h_{n-1}(a_1, [-a_2]) z^n = \frac{z}{1 - xyz - 2yz^2}, \quad (21)$$

respectively. Hence we obtain the following theorem.

Theorem 7. For $n \in \mathbb{N}$, the generating function of bivariate Jacobsthal polynomials is given by

$$\sum_{n=0}^{+\infty} J_n(x, y) z^n = \frac{z}{1 - xyz - 2yz^2}, \text{ with } J_n(x, y) = h_{n-1}(a_1, [-a_2]). \quad (22)$$

Put $x = y = 1$ in the relation (22), we get the generating function of Jacobsthal numbers [13].

$$\sum_{n=0}^{+\infty} J_n z^n = \frac{z}{1 - z - 2z^2}, \text{ with } J_n = h_{n-1}(a_1, [-a_2]).$$

Multiplying Equation (20) by 2 and (21) by xy , we obtain

$$\sum_{n=0}^{+\infty} (2h_n(a_1, [-a_2]) - xyh_{n-1}(a_1, [-a_2])) z^n = \frac{2 - xyz}{1 - xyz - 2yz^2},$$

and we have the following theorem.

Theorem 8. For $n \in \mathbb{N}$, the generating function of bivariate Jacobsthal Lucas polynomials is given by

$$\sum_{n=0}^{+\infty} j_n(x, y) z^n = \frac{2 - xyz}{1 - xyz - 2yz^2}, \text{ with } j_n(x, y) = 2h_n(a_1, [-a_2]) - xyh_{n-1}(a_1, [-a_2]). \quad (23)$$

Put $x = y = 1$ in the relationship (23) we get the generating function of Jacobsthal Lucas numbers [10].

$$\sum_{n=0}^{+\infty} j_n z^n = \frac{2 - z}{1 - z - 2z^2}, \text{ with } j_n = 2h_n(a_1, [-a_2]) - h_{n-1}(a_1, [-a_2]).$$

4. Conclusion

In this paper, by making use of Equation (6), we have derived some new generating functions for the Gauss Fibonacci polynomials, Gauss Lucas polynomials, bivariate Pell polynomials, bivariate Pell Lucas polynomials, bivariate Fibonacci polynomials, bivariate Lucas polynomials, bivariate Jacobsthal polynomials and bivariate Jacobsthal Lucas polynomials. The derived theorems and corollaries are based on symmetric functions and these polynomials.

Acknowledgments: Authors are grateful to the Editor-In-Chief of the Journal and the anonymous reviewers for their constructive comments which improved the quality and the presentation of the paper. This work was supported by Directorate General for Scientific Research and Technological Development(DGRSDT), Algeria.

Author Contributions: Both authors contributed equally in writing of this paper. All authors read and approved the final manuscript.

Conflicts of Interest: “The authors declare no conflict of interest.”

References

- [1] Özkan, E., & Taştan, M. (2020). On Gauss Fibonacci polynomials, on Gauss Lucas polynomials and their applications. *Communications in Algebra*, 48, 952-960.
- [2] Uygun, S., & Zorcelik, A. (2018). Bivariate Jacobsthal and Bivariate Jacobsthal lucas matrix polynomials sequences. *Journal of Mathematical and Computational Science*, 8, 331-344.
- [3] Karaaslan, N. (2019). A note on modified Pell polynomials. *Aksaray University Journal of Science and Engineering*, 3, 1-7.
- [4] Yagmur, T., & Karaaslan, N. (2018). Gaussian modified Pell sequence and Gaussian modified Pell polynomial sequence. *Aksaray University Journal of Science and Engineering*, 2, 63-72.
- [5] Catarino, P., & Campos, H. (2017). Incomplete k -Pell, k -Pell lucas and modified k -Pell numbers. *Hacettepe Journal of Mathematics and Statistics*, 46, 361-372.
- [6] Boussayoud, A., & Abderrezzak, A. (2019). Complete homogeneous symmetric functions and Hadamard product. *Ars Combinatoria*, 144, 81-90.
- [7] Boussayoud, A., Kerada, M., & Boulyer, M. (2016). A simple and accurate method for determination of some generalized sequence of numbers. *International Journal of Pure and Applied Mathematics*, 108(3), 503-511.
- [8] Boussayoud, A., Kerada, M., Sahali, R., & Rouibah, W. (2014). Some applications on generating functions. *Journal of Concrete and Applicable Mathematics*, 12, 321-330.
- [9] Boussayoud, A., & Kerada, M. (2014). Symmetric and generating functions. *International Electronic Journal of Pure and Applied Mathematics*, 7, 195-203.
- [10] Boussayoud, A. (2017). L'action de l'opérateur $\delta_{e_1 e_2}^k$ sur la série $\sum_{n=0}^{+\infty} S_n(A) e_1^n z^n$. (Doctoral dissertation), Mohamed Seddik Ben Yahia University, Jijel, Algeria.
- [11] Macdonald, I. G. (1979). *Symmetric functions and Hall polynomials*. Oxford University Press, Oxford.
- [12] Marzouk, H., Boussayoud, A., & Chelgham, M. (2019). Symmetric functions of generalized polynomials of second order. *Turkish Journal of Analysis and Theory Number*, 7, 135-139.
- [13] Boughaba, S., Boussayoud, A., & Kerada, M. (2019). Construction of symmetric functions of generalized Fibonacci numbers. *Tamap Journal of Mathematics and Statistics*, 3, 1-7.



© 2020 by the authors; licensee PSRP, Lahore, Pakistan. This article is an open access article distributed under the terms and conditions of the Creative Commons Attribution (CC-BY) license (<http://creativecommons.org/licenses/by/4.0/>).